i
I
iy
Tl
P=ai
I

1. ¥4
ES s AR SRS IR 3R G275
BT T ST LA T B X T BT M (S R B S AT

2. ¥HENRE

1) FHI4 ANHRYBEBT PR
2) JEATHIMH H ERNES O TSRk

E S 84 2H27H

3) BB
Wb RS 5 LAVRAMRIEN (1-45) 12350 CRHE L TU 5 A (AR
REMIEERA, LATEARIEI (1-53) (250 CRIE L Cu 2 555 IR
OF S KO, TINS5 #1115 45 O BLTE B O R T 5
CLEAMET D,

4) EBNE
HEAEE 15K
ARG - 15K
WP Tk Er © 1 3%
WP AR A« 10k

-1- EtrEE T R



E/Ellj“
I

¥EBL | AAERMEERGER ER i WEES
H H I
B E I % i 3 B {7 # 4 %A A BN R
HAe & =X 1, 314, 553
B & =X 1, 314, 553
B ) = 1,314,553 | BRI & (fEZEGHE)
1 E
T b
(0.002) 1 (km2) =,
Bt A = = 1, 259, 930
S Sty 2V 1, 259, 930
TR 2V 1,259,930 | {EXE
1 e
FRUDVRRR B
0. 32 km
FHEMIT I &
0. 32 km
R T
0. 32 km
[R5 = 68, 000
[R5 3¢ = 68, 000
%%E}Z%lﬁlﬁzﬁk% it: 68, 000 %%Eﬁ%%f’?ﬁk%
1 =
[EXERIIISE =X 2,642, 483
BiEERIIEEE =X 2,197,517
RERR L =X 2,197,517
-1 - [E 238 T s i




E/Ellj“
I

¥EBL | AAERMEERGER ER i WEES
H H WG
B E I % i 3 B {7 # 4 %A A BN R
=R = 4, 840, 000
JE H R =X 2,426, 401
TE R =X 2,426, 401
WK S 2 £y 2,426,401 | JEBEFEMIZGE (A)
0.32)1  (km) 2
P &R R = 6, 255, 240
RO &R & = 6, 255, 240
RO G HELRE K OVR [E T D% F = 6, 255, 240 | WOBHHELE K OVR[E T Pk s
1 =
HEIRE 1 5 mATE
TOBHHE LR Ky OVR [ T3R5
1 =
RS 1 5 mATE
AEFEME N _E R G E E R = 93, 050
A PEMER) ERRGH R E EERR = 93, 050
AEPEVER BB EERR = 93,050 | A=pEMEA) ERkEHE B EIER
1 eSS
BisST] = 878, 945
Hm GREFED) =X 878, 945
FTawe = 525,000 | T4+
1 =
ZF Dt = 218, 525 | A IR HESAT
1 [A]
-2 - [E 238 T s i



Tl
P

=
=

EW4 | ALHELRE ERE R ER i EHES
H H BLsii]
B E I % i 3 B {7 # & #A OB N R
BERME I X W
4 [A]
KR T = v 7 v — b OERL
1 THE
INBH R S VERR = 135,420 | ZABHRCE AL VERR
1 ¥5%
B =X 487,518
[R5 = 487,518
ik A = 60,518 | fit#y (FitE - EEE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 427, 000 %%Eﬁ%%f’?ﬁk%
1 =
EEFM (2 oMFEMmER<) = 10, 141, 154
Z OJFEAT = 5,172, 865
— N E B = 8, 245, 981
eSS oy 23, 560, 000
eSS oy 28, 400, 000

EtrEE T R



